&9. SHIVAJI TECHNICAL ACADEMY

Integration

15. Integration

1) fdx=x+c

2) [xtdx =" yc & omgfreestudy.com

n+1

3) [cosxdx =sinx+c

4) [sinxdx =—cosx+c

5) [sec’xdx =tanx+c

6) [secxtanxdx =secx+c

7) [ cosec x cotx dx = —cosec x + ¢

8) [cosec’xdx =—cotx+c
9) fidleogx+c

10) [ e*dx =e* + ¢

ax

11) [ a*dx = +c

loga

12) [ tan x dx = log(secx) + ¢

13) [ cotx dx = log(sinx) + ¢

14) [ secx dx = log(secx + tanx) + ¢

15) [ cosec x dx = log(cosec x — cotx) + ¢

16) LIATE RULE BY PARTS

fu-vdxzujvdx—j“vdx -:—xu]dx

1) [E2 dx = log(f(x) +¢

fr(x) _
Z)Ide—Z f(x)+c¢
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